
 
���ก��������	
��
��ก����ก�� 

������������ก����	���� 
 

���������
 

����	�� ���!	 ��	�#� 3 
(ก��&�����	�� ���!	'�(�&�)ก���
) 

 

���  

�.ก	ก��#  �)��ก�ก)� 
(��.���	,-�.�,( /	����)�0��1
2) 



2554 ����	
���
 (17) ��
���
������ ������ 3  !" �.ก�ก�%�  �&'�ก�ก&% 2 

ก��������	
���
��	���
���ก���� 
 

�������	
��
��������ก���� (Probability) �#� 	$����%&'(�ก)�*%��(��� ����ก����)+����ก������,'�
�&-�ก�.�ก/+�,0��&��ก��#��*�1�2&1�)+     
 

��	����  3*�  S 5%�  56���78.��6 (��/9:�/�;��1���) 6,'�5��8
.��</ก�&-�ก�.�ก/+�,0�=+*�%��> ก;� 
 58
 E ��
�����ก���� E (6,'���
�.;(�6%��� S) 
 �������	
��
��������ก���� E ��&1�5%�+*�1 P(E) 
 
 
 

��#'�  n (E)   ��
�	$����.��</ก)�����ก���� E  
 n (S)   ��
�	$����.��</ก)�56���78.��6  S   

��ก��	���� 	
��A���� ก�����������	
��
��������ก����  �&�;0����+;��&0 
1.  ��	$����.��</ก)�56���78.��6 ���ก��%+8��.����;0� 5%�+*�1  n (S) 
2.  ��	$����.��</ก�������ก����%&'.�)	   5%�+*�1  n (E) 

3.  ���������	
��
��������ก����    
 

�������������� �������	
���
��	 
.�(;�/%&'.$��;E����������	
��
� �&+;��&0 

(1)  �������	
��
��������ก���� E )+> �&����;0�5��  0 3,� 1 �.�� �;'��#� 0 ≤ P (E) ≤ 1 
(2)  �������	
��
����56���78.��6 S ��
� 1 �;'��#� P (S) = 1 
(3)  �������	
��
��������ก����%&'��
��6����� �#� 0 
	�ก (2) 58
 (3) 
P (E)  = 1  ���1������� ����ก����%&'.�)	�;0��ก/+�,0�5�����      58
   
P (E)  = 0   ���1������� ����ก����%&'.�)	�;0�=���&-�ก�.�ก/+�,0��81 

 
�����
����� 1  3*�.������(��;�%&'�&(���.���������(��;���,'�  	����������	
��
�%&'���(��;��;0� 

(1)  �&(�����5�ก��
�<�1  (�����%&'.����
��E/� 
(2)  �&(�����
�<�1�1����*�1  1  ��  

P (E)    =    
)S(n

)E(n  

P (E)    =    
)S(n

)E(n  
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��"���� �� S 58
 E -+1ก����&1�5H�9�2�*�=�* 
 ก��%+8��.��� �#� ก���&(���.���� 
 

 
 
 
 
 
 
      
      

   S  =   { (<, <),  (<, E),  (E, <),  (E, E) } 
n (S)  =   4 

 

��"����  (1) 
 E1  5%� ����ก����%&'�&(�����5�ก��
�<�1  (�����%&'.����
��E/� 

E1  =  { (<, E) }  
n (E1)   = 1 

	�ก  P (E)    =   
 

P (E1)   =    =   
 

+;��;0� �������	
��
�%&'(�����5�ก��
�<�1 ��%&'.����
��E/� ��
� 4
1  

��"����   (2) 

 E2  5%� ����ก����%&'�&(�����
�<�1�1����*�1  1  �� 
E2  =  { (<, <),  (<, E),  (E, <) }      
n (E2)   = 3 

	�ก  P (E)    =   
 

P (E2)   =    =   
 

+;��;0� �������	
��
�%&'�&(�����
�<�1�1����*�1  1  �� �%��ก;(  
 

�����	��� 1 �����	��� 2 '((�)"� 
 (*, *) 

(*,  ) 

 ( , *) 

( ,  ) 

3 

4 

3 
4 
3 
4 

 )S(n
)E(n

 

 )S(n
)E(n 1  4

1  

 )S(n
)E(n 2  4

3  

 )S(n
)E(n

 

4
3  
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�����
����� 2  �&8:ก��M� 2 8:ก 58
���&1E 2 ���&1E -1�8:ก��M�58
���&1E2�*��ก;� 1 ��;0� 	����������	
��
�%&'8:ก��M�
%;0�.��8:ก���15�*��:� 58
���&1E%;0�.�����&1E���1�;� 

��"����   �� n (S)  58
 n (E) -+1)<*กNก���:� 
ก��%+8��.��� �#� ก��-1�8:ก��M� 2 8:ก 58
���&1E 2 ���&1E2�*��ก;� 1 ��;0� 
��0	��	��� 1 ��0	��	��� 2 ��0	��	��� 3 ��0	��	��� 4 
8:ก��M�8:ก%&' 1 8:ก��M�8:ก%&' 2 ���&1E%&' 1 ���&1E%&' 2 
���1 ���1 ���1 ���1 

n (S)  =           6              ×          6           ×           2            ×             2            Z     
 

��"����   ����ก����%&'.�)	�#� 8:ก��M�%;0�.��8:ก���15�*��:�58
���&1E%;0�.�����&1E���1�;� 
��0	��	��� 1 ��0	��	��� 2 ��0	��	��� 3 ��0	��	��� 4 

8:ก��M�8:ก%&' 1 8:ก��M�8:ก%&' 2 ���&1E%&' 1 ���&1E%&' 2 
���1 2, 4, 6 ���1 2, 4, 6 ���1�;� ���1�;� 

n(E)  =             3           ×           3           ×           1           ×          1                  z 
 

��"����   P(E)     = 

 P(E)     = 

  =  
16

1
 

 

+;��;0� �������	
��
�%&'8:ก��M�%;0�.��8:ก���15�*��:�58
���&1E%;0�.�����&1E���1�;��%��ก;( 16
1  

 

�����
����� 3   �;กR,กS�ก8�����,'��& 100 �� �&�;กR,กS���&1���/�R�.��� 30 �� �8#�ก��&1�9�S��;�กTS 50 �� 
�8#�ก��&1�%;0���/�R�.���58
9�S��;�กTS 20 �� 3*�.����8#�ก�;กR,กS�ก8����&0�� 1 �� ����
���	
��
�%&'	
=+*�;กR,กS�%&'�8#�ก��&1���/�R�.�����#�9�S��;�กTS �%��ก;(�%��)+ 

��"����   �� n (S)  58
 n (E) -+1)<*�6� 
 
 
 
 
 
 
 

)S(n

)E(n  

2266
1133

××××××××××××
××××××××××××  

 ���������
 (30) 

10 20 30 

40 

100 

1�����(ก9� (50) 
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�&�;กR,กS�%&'�8#�ก��&1���/�R�.�����#�9�S��;�กTS  10 + 20 + 30  =  60  �� 
�;'��#�  n (E)  =   60 
 n (S) =   100 

	�ก P (E) = 

	
=+* P (E) = = 

+;��;0� �������	
��
�%&'	
=+*�;กR,กS�%&'�8#�ก��&1���/�R�.�����#�9�S��;�กTS�%��ก;(  
 

���� 1. �������	
��
��������ก���� E ��&1�5%�+*�1 P (E) 
 
 
��#'� n (E) ��
�	$����.��</ก)�����ก���� E %&'.�)	 

n (S) ��
�	$����.��</ก)�56���78.��6 S 
2. �� n (E) 58
 n (S) =+*-+1 

2.1 )<*5H�9�2�*�=�* 
2.2 )<*กN�ก�W��(#0���*��ก&'1�ก;(ก���;( (กNก���:�) 
2.3 )<*�6� 
 

2	��3����
�4��� ����	
���
��	 

��
(4�ก���������56ก�3�� 

1. -1�8:ก��M� 2 8:ก 1 ��;0� �������	
��
�%&'	
=+*H8������5�*�8:ก��M��*�1ก��� 6 �%��ก;(�%��)+ 

ก.  �.  

�.  �.  
 


7(� �3� ก 

��"���� ก��%+8��.����#� -1�8:ก��M� 2 8:ก 1 ��;0� 
��0	��	��� 1 ��0	��	��� 2 

8:ก��M�8:ก%&' 1 8:ก��M�8:ก%&' 2 
���1 ���1 

n (S)  =       6             ×         6           z 
= 36 

 

)S(n

)E(n

100
60  5

3  

5
3  

P (E)    =    
)S(n

)E(n  

18
5  36

7

 
36
21

 
36
24
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��"���� ����ก����%&'.�)	�#� H8������5�*�8:ก��M��*�1ก��� 6 
E  = { (1, 1),  (1, 2),  (1, 3),  (1, 4), (2, 1),  (2, 2),  (2, 3),  (3, 1),  (3, 2),  (4, 1) } 
n (E)   = 10 

	�ก P (E)  = 

	
=+* P (E)  = = 
 

2. +,�=2� 1 )(	�ก.$��;( �������	
��
�%&'	
=+*=2�-25+��%��ก;(�%��)+ 

ก.  �.  

�.  �.  

7(��3� � 

��"���� ก��%+8��.����#� ก��+,�=2� 1 )(	�ก.$��;( 
 n (S)  = 52 
����ก����%&'.�)	�#� =+*=2�-25+� 
 n (E)  = 13 

	�ก P (E) = 

	
=+* P (E) = = 
 

3.  	�กก��.$���	�;กR,กS�ก8�����,'�	$����  100 ��  =+*�*��:8��� �&�;กR,กS�%&'.������%*����+����> +;��&0 


�������
�3� ���	�		�ก<=ก>� 
5 
6 
7 
8 
9 
10 

3 
12 
35 
27 
16 
7 

��#'��8#�ก�;กR,กS� 1 �� 	�ก�;กR,กS�ก8����&0  �������	
��
�%&'�8#�ก=+*�;กR,กS�%&'.������%*��(��� 6 ��#� 
�(��� 7 �%��ก;(�%��)+  
ก.  0.35 �.  0.47 
�.  0.62 �.  0.78 


7(��3� � 

)S(n

)E(n

18
5  36

10

 

3
1  2

1  

4
1  

5
1  

)S(n

)E(n  

52
13  4

1  
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��"���� ก��%+8��.����#� ก���8#�ก�;กR,กS� 1 �� 	�ก 100 �� 
 n (S)  = 100 
����ก����%&'.�)	�#� �8#�ก=+*�;กR,กS�%&'.������%*��(��� 6 ��#��(��� 7 
 n (E)  = 12 + 35  = 47 

	�ก P (E) = 

	
=+* P (E) = =  0.47 
 

4.  -��5��5�����,'��&�*������<;0�%&'��,'� 15 �*�� <;0�%&'.�� 10 �*�� <;0�%&'.�� 25 �*�� 3*���:.�T+&�*��ก����*�
2;ก)�-��5��5����&0-+1�/[&.���58*� �������	
��
�%&'��:.�T+&	
=+*��*�2;ก�*��2;ก<;0�%&'.�����-��5��
�%��ก;(�*�)+���=��&0  

ก.   �.  

�.  �.   

7(��3� � 

��"���� ก��%+8��.����#� ก����*�2;ก)��*��2;ก���-��5�� 
 n (S)  = 15 + 10 +  25 = 50 
����ก����%&'.�)	�#� ก����*�2;ก�*��2;ก<;0�%&'.�����-��5�� 
 n (E)  = 10  

	�ก P (E) =
)S(n

)E(n  

	
=+* P (E) =  50
10  =    

 


*4����4�?�
 

�<#'���#�=����� ��#'��;กR,กS�6#0�.8�กก/�5(����,'�)(%&'�&���1�8�(�.8�ก��
��8� 6 �8;ก �;กR,กS��&
-�ก�.3:ก����;8%&' 1 �2&1� 1 )�8*���%���;0� 

 
�;กR,กS�.����3�<#'��*�����+;�ก8���=+* ��#'��	�ก.8�กก/�5(���&���1�8�(�.8�ก��
��8� 6 �8;ก 

	$����.8�ก%;0���+ =   10   ×   10   ×   10   ×   10   ×   10   ×   10    z 
+;��;0� n (S) = 1,000,000 
.8�ก%&'3:ก����;8%&' 1 �& 1 )( 
+;��;0� n (E)  = 1  

	�ก  P (E) = =  

�;กR,กS��&-�ก�.3:ก����;8%&' 1 �2&1� 1 )�8*���%���;0� 

)S(n

)E(n  

100
47

 

10
1  5

1  

2
1  10

3  

)S(n

)E(n  000,000,1
1  

5
1  
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5.  )�ก���8#�ก��
ก���ก��<�+��,'� 6,'���
ก�(+*�1 ��
[�� �����
[�� 58
�8����ก�� �1���8
 1 �� 
	�ก�E/� 6 ��58
 <�1 4 �� �������	
��
�%&'��
ก���ก��<�+�&0 	
�&��
[��58
�����
[����
��E/�
�%��ก;(�*�)+  

ก.   �.  

�.  �.   
 


7(��3� � 

��"���� ก��%+8��.����#� ก���8#�กก���ก�� 6,'���
ก�(+*�1 ��
[�� �����
[�� 58
�8����ก�� 	�ก
�E/� 6 ��58
 <�1 4 �� ��� 10 ��  

��0	��	��� 1 ��0	��	��� 2 ��0	��	��� 3 

�8#�ก��
[��  �8#�ก�����
[��  �8#�ก�8����ก�� 

n (S)  =                 10              ×               9                   ×            8                     z 
 

��"���� ����ก����%&'.�)	�#� ก���8#�กก���ก��%&'��
[��58
�����
[����
��E/�  
��0	��	��� 1 ��0	��	��� 2 ��0	��	��� 3 

�8#�ก��
[��  �8#�ก�����
[��  �8#�ก�8����ก�� 
��
��E/� ��
��E/� ��
�<�1��#��E/� 

n (E)  =                    6              ×              5                  ×                8                  z 
 

��"���� 	�ก P (E) = 

	
=+* P (E) = 

 =   
 

6.  )�ก���1/((;��.��)(2�*��ก;�	�ก(;��.&')( 6,'��&���1�8� 0, 1, 2 58
 3 ก$�ก;( �������	
��
�%&'	
=+*
H8�������;��8�(�(;��%�ก)(=���ก/� 5 �%��ก;(�%��)+ 

ก.    �.  

�. �.   

7(��3� � 

��"���� ก��%+8��.����#� ก���1/((;��.��)(2�*��ก;�	�ก(;��.&')( 6,'��&���1�8� 0, 1, 2 58
 3 
 	
�1/(=+* 4 5(( �#� 0, 1, 2 0, 1, 3 
  0, 2, 3 1, 2, 3 
 +;��;0�  n (S) = 4 

18
1  

9
1  3

1  

12
1  

3
1  

)S(n

)E(n  

8910
856

××××××××
××××××××  

4
1  4

3  

3
2  2

1  
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��"���� ����ก����%&'.�)	 �#� =+*H8�������;��8�(�(;��%�ก)(=���ก/� 5 
 =+*5ก�����ก���� 0, 1, 2 6,'��&H8(�ก�%��ก;( 0 + 1 + 2  =  3 
  0, 1, 3 6,'��&H8(�ก�%��ก;( 0 + 1 + 3  =  4 
  0, 2, 3 6,'��&H8(�ก�%��ก;( 0 + 2 + 3  =  5 
 +;��;0�  n (E)  = 3 

 	�ก     P (E) =  

	
=+* P (E) = 
 

7.   %�.&���&1E.�����&1E+;��&0 ���&1E5�ก+*����,'�%�.&��� �&ก+*����,'�%�.&5+� ���&1E%&'.��+*����,'�%�.&
5+� �&ก+*����,'�%�.&\]�  ���&1E%&'.��+*����,'�%�.&\]� �&ก+*����,'� %�.&��� -1����&1E%;0�.���,0�2�*��
ก;� �������	
��
�%&'���&1E	
�,0���*�����.&ก;� %;0���+��
�+;��*�)+  

ก.  �.  

�.  �.  

7(��3� � 

��"���� ก��%+8��.����#� ก��-1����&1E 3 ���&1E2�*��ก;� 
��0	��	��� 1 ��0	��	��� 2 ��0	��	��� 3 

���&1E%&' 1 ���&1E%&' 2 ���&1E%&' 3 
���1 ���1 ���1 

n (S)  =                     2              ×              2               ×             2                       z 
 = 8 
 

��"���� ����ก����%&'.�)	 �#� ���&1E%;0�.�����&1E�,0���*�����.&ก;� 6,'���
�=�=+* 2 ก��&�#� ก�����1���
���&1E%&' 1, 2, 3 ���8$�+;( ��
� �  +  \ 58
  +  \  � 

  n (E)  = 2 

 	�ก     P (E) =  

	
=+* P (E) = = 
 

8.  ก8���)(��,'�(��	�.8�ก���1�8� 1 ^ 10 ���1�8�8
 1 )( 3*�.����1/(.8�ก	$����.��)( -+1�1/(%&8

)(5((=��).��#� �������	
��
�%&'	
�1/(=+*.8�ก ���1�8��'$�ก��� 5 �2&1���,'�)(�%���;0� �%��ก;(�*�)+  

ก.  �.  

�.  �.  

7(��3� � 

4
3  

)S(n

)E(n  

9
2  

4
1  2

1  

8
1  16

1

 

4
1  8

2  
)S(n

)E(n  

15
4  

35
2  156

11  
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��"���� ก��%+8��.����#� ก��.��� -+1�1/(%&8
)(58*�=��).��#� 
��0	��	��� 1 ��0	��	��� 2 
�1/(.8�ก)(%&' 1 �1/(.8�ก)(%&'2  

n (S)  =                  10                ×                9                    z 
 = 90 
 

 

 

��"���� ����ก����%&'.�)	 �#� �1/(=+*.8�ก ���1�8��'$�ก��� 5 �2&1���,'�)( 
��0	��	��� 1 ��0	��	��� 2 ��4� ��0	��	��� 1 ��0	��	��� 2 

�1/(.8�ก)(%&' 1 �1/(.8�ก)(%&'2  �1/(.8�ก)(%&' 1 �1/(.8�ก)(%&'2 
���1�8� 1 ^ 4 ���1�8� 5 ^ 10  ���1�8� 5 ^ 10 ���1�8� 1 ^ 4 

n (E)  =          4             ×                6           +                    6               ×                4                 z 

 = 24 + 24 
 =   48 
��"���� 	�ก     P (E) =  

	
=+* P (E) = = 
 

9.  �&ก8��� 2 )(  5��8
)(�&8:ก(�8���1�8�  1, 2, 3, 4, 5 �1:��1���8
8:ก  3*�.����1/(8:ก(�8  2 8:ก 	�กก8���%;0�.��
)(�&0ก8���8
8:ก58*�  �������	
��
�%&'	
=+*8:ก(�8���1�8�����ก;��%��ก;(�%��)+   

ก.  �.  

�.  �.  
 


7(��3� � 

��"���� ก��%+8��.����#� ก��.����1/(8:ก(�8  2 8:ก 	�กก8��� 2 )( %&'5��8
)(�&8:ก(�8���1�8�  1, 2, 3, 4, 5 
ก8���8
8:ก 

��0	��	��� 1 ��0	��	��� 2 

�1/(8:ก(�8 �1/(8:ก(�8 
	�กก8���%&' 1 	�กก8���%&' 2 

n (S)  =                     5              ×               5                       z 
 

15

8
 

90

48
 

)S(n

)E(n  

5
3  
5
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